

Florida Department of Transportation



Vendor Ranking

Page 1 of 1

Letting: 01240215 February 15, 2024 11:00 AM **Call Order**: 006

Call Order: 006 Contract: E1W74-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS HIGHLANDS Project(s): 43272617260 (*)

Contract Desc: Shoulder Repair with Sod

| Ran | k Vendor | Bid Type | Bid States | Total Bid | Percent Of Low Bid |
|-----|--|------------|-----------------|--------------|-----------------------|
| 1 | ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC | Responsite | N -Winning Bid | \$148,315.00 | 100.00% |
| 2 | MOVING EARTH INC. | Ponsive | Non-Winning Bid | \$156,100.00 | 105.25% |
| 3 | ENVIRONMENTAL LAND DEVELOPMENT | Respondive | Non-Winning Bid | \$156,650.00 | 105.62% |
| 4 | MIDWESTERN CONSTRUCTION, INC | espor ive | Non-Winning Bid | \$161,500.00 | 108.89% |
| 5 | HIGHER GROUND LAND SERVICES, LL | Responsive | Non-Winning Bid | \$204,150.00 | 137.65% |

NOTE: Failure to file a protest within the time prescribed in section 120.57(3) Florido Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a pain of processings under chapter 120, Florida Statutes.



Page 1 of 3

Florida Department of Transportation



Tabulation of Bids

Letting: 01240215 February 15, 2024 **Call Order:** 006 **Contract:** E1W74-R0

District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS HIGHLANDS Project(s): 43272617260 (*)

Contract Descr: Shoulder Repair with Sod Shoulder Repair with Sod in Highlands County

| Line No / Item ID Item Description | Alternate Quantity Units | (1) ROGAR MANAGEMENT & CONSULTING OF FLORIDA | | (2) MOVING EARTH INC. | | (3) ENVIRONMENTAL LAND DEVELOPMENT | |
|---|---------------------------------|--|--------------|-----------------------|--------------|------------------------------------|--------------|
| () indicates item is bid as L | ump Sum | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| SECTION: 000 | 1 (SODDING (SY | | | | | | |
| 0005 E575 1 SODDING | 24,000.000 SY | 6.15000 | 147,600.00 | 3.40000 | 81,600.00 | 3.50000 | 84,000.00 |
| 0010 E577 70 SHOULDER REWORK | 24,000.000 SY | 0.01000 | 240.00 | 1.00000 | 24,000.00 | 2.10000 | 50,400.00 |
| 0015 E577 70 2 REWORKING UTILITY STF | 2,500.000 RIPS SY | 0.01000 | 25.00 | 4.00000 | 10,000.00 | 2.60000 | 6,500.00 |
| 0020 E577 71 BLADING PAVED SHOULD BEYOND PAVEMENT | 45,000.000 DER, UP TO 24" LF | 0.01000 | 450.00 | 0.90000 | 40,500.00 | 0.35000 | 15,750.00 |
| 0001 SODDIN | G (SY) Section Totals: | | \$148,315.00 | | \$156,100.00 | | \$156,650.00 |

| Contract Grand Totals: | \$148,315.00 | \$156,100.00 | 156,650.00 |
|------------------------|--------------|--------------|------------|
| | | | |



Florida Department of Transportation



Tabulation of Bids

Page 2 of 3

| Lettin | ng : 0 | 1240215 | February 15, 20 | 024 Cal | l Order: 006 | | Contract: | E1W74-R0 | |
|---------------|--------------------------------------|----------------|-------------------------|----------------------|---------------------------|-------------------------|---------------------------|------------|------------|
| | e No / Item ID n Description | Alternat | e Quantity Units | (4) MIDW CONSTRUC | | (5) HIGHER GR SERVIC | | | |
| | ndicates item is b | id as Lump Sum | | Unit Price | Ext Amount | Unit Price | Ext Amount | Unit Price | Ext Amount |
| | SECTION: | 0001 | (SODDING (SY | | | | | | |
| 0005 SODDI | E575 1 ING | | 24,000.000 SY | 2.50000 | 60,000.00 | 4.00000 | 96,000.00 | | |
| 0010 SHOUL | E577 70 LDER REWOR | K | 24,000.000 SY | 1.50000 | 36,000.00 | 0.60000 | 14,400.00 | | |
| 0015 REWO | E577 70 2 RKING UTILIT | Y STRIPS | 2,500.000 SY | 10.00000 | 25,000.00 | 6.00000 | 15,000.00 | | |
| | E577 71 NG PAVED SH ND PAVEMEN | | 45,000.000 TO 24" LF | 0.90000 | 40,500.00 | 1.75000 | 78,750.00 | | |
| | 0001 SC | DDDING (SY) \$ | Section Totals: | | \$161,500.00 ['] | | \$204,150.00 [°] | | |
| | | Contract G | rand Totals: | | \$161,500.00 | | \$204,150.00 | | |



Florida Department of Transportation

03/05/2024

Tabulation of Bids

Page 3 of 3

E1W74-R0

Letting: 01240215 February 15, 2024 **Call Order:** 006 **Contract:**

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.